

PERGAMON

Available online at www.sciencedirect.com



International Journal of Heat and Mass Transfer 46 (2003) 1855-1860

International Journal of HEAT and MASS TRANSFER

www.elsevier.com/locate/ijhmt

On the explicit analytic solution of Cheng-Chang equation

C. Wang ^{a,*}, J.M. Zhu ^a, S.J. Liao ^a, I. Pop ^b

^a School of Naval Architecture and Ocean Engineering, Shanghai JiaoTong University, Shanghai 200030, China ^b Faculty of Mathematics, University of Cluj, R-3400 Cluj, CP253, Romania

Received 23 September 2002

Abstract

An analytic technique is applied to solve the free convection over a heated horizontal flat surface embedded in a porous medium. An explicit, totally analytic and uniformly valid solution is given to the so-called Cheng–Chang equation, which agrees well with numerical results.

© 2003 Elsevier Science Ltd. All rights reserved.

Keywords: Cheng-Chang equation; Analytic solution; Homotopy analysis method

1. Introduction

Convective heat transfer in porous medium has been intensively studied over the past two decades because of its wide applications including geothermal energy engineering, groundwater pollution transport, nuclear waste disposal, chemical reactors engineering, insulation of buildings and pipes, storage of grain and coal, and so on. The state of art concerning convective heat transfer in porous media has been summarized in the excellent monographs by Nield and Bejan [1] and Ingham and Pop [2].

The similarity solutions for free convective boundary layer flow in a porous medium above a heated horizontal flat surface or below a cooled horizontal flat surface where the wall temperature is power function of the distance from the leading edge, were first considered by Cheng and Chang [3]. The problem has important applications in the assessment of geothermal resources and design of underground energy storage systems. Behavior of the similarity equations were further considered by Chang and Cheng [4], Merkin and Zhang [5], Na and Pop [6]. Chang and Cheng [4] investigated this problem by the method of matched asymptotic expansions in which other effects, such as fluid entrainment

* Corresponding author.

E-mail address: chunwang@sjtu.edu.cn (C. Wang).

were taken into consideration. Merkin and Zhang [5] presented numerical solutions to the similarity equation and revealed that the solutions have a singularity under certain conditions. Na and Pop [6] presented numerical solutions of the similarity equations using the perturbation method in combination with the Shanks transformation. The similarity solutions for free convection in porous media in other configurations have been studied by Cheng and Minkowycz [7], Cheng [8], Ingham and Brown [9], and most recently by Rees and Pop [10], Postelnicu and Pop [11], Banu and Rees [12].

Due to its important applications in many fields described by Cheng [13], a full understanding of the similarity solutions for free convection boundary layer above a horizontal flat surface in a porous medium is meaningful. Although a lots of numerical results have been reported, to our knowledge, no one has reported an explicit, totally analytic, uniformly valid solution for this problem. In this paper, we employ the homotopy analysis method (HAM, see [14–19]) to give such an explicit analytic solution. Unlike perturbation method, the HAM is independent upon small or large parameters, and has been successfully employed to many non-linear problems. All of these applications verify the validity and potential of the HAM as a kind of powerful analytic tool for non-linear problems [14–19].

In this paper, we apply the HAM to give, for the first time (to the best of our knowledge), explicit analytic solutions of the similarity equations appeared in free convection above a horizontal plane in porous medium. The validity of the analytic solution is verified by numerical results.

2. Mathematical formulation

Assuming that the flow is governed by Darcy's law and that the boundary layer approximation holds, the dimensionless equations governing the free convective boundary-layer flow above a heated impermeable horizontal surface (or below a cooled impermeable horizontal surface) are [3]:

$$\frac{\partial^2 \psi}{\partial y^2} = -\frac{\partial \theta}{\partial x},\tag{1}$$

$$\frac{\partial^2 \theta}{\partial y^2} = \frac{\partial \psi}{\partial y} \frac{\partial \theta}{\partial x} - \frac{\partial \psi}{\partial x} \frac{\partial \theta}{\partial y}, \qquad (2)$$

where (x, y) are the dimensionless Cartesian coordinates along and normal to the flat surface, respectively, θ is the dimensionless temperature and ψ is the dimensionless stream function. The minus sign in Eq. (1) corresponds to a flat surface heated upward. Assuming a power-law variation of temperature on the impermeable surface, the boundary condition can be given by

$$\psi = 0, \quad \theta = x^{\alpha}, \quad \text{on } y = 0, \tag{3}$$

$$\frac{\partial \psi}{\partial y} = 0, \quad \theta = 0, \quad \text{as } y \to \infty.$$
 (4)

Under the transformation

$$\theta = x^{\alpha} g(\eta), \quad \psi = (1+\alpha)^{-1/3} x^{(\alpha+1)/3} f(\eta),$$

$$\eta = (1+\alpha)^{2/3} x^{(\alpha-2)/3} y,$$
 (5)

we have

$$f''(\eta) + (\beta - \frac{2}{3})\eta g'(\eta) + \beta g(\eta) = 0, \tag{6}$$

$$g''(\eta) + \frac{1}{3}f(\eta)g'(\eta) - \beta f'(\eta)g(\eta) = 0,$$
(7)

subject to the boundary conditions

$$f(0) = 0, \quad g(0) = 1, \quad f'(\infty) = g(\infty) = 0,$$
 (8)

where

$$\beta = \frac{\alpha}{1+\alpha}.\tag{9}$$

Now, we solve Eqs. (6)–(8) by means of the HAM. Due to the boundary condition, Eq. (8), $f(\eta)$ and $g(\eta)$ can be expressed by a set of base functions

$$\{\eta^m \exp(-n\eta) | n \ge 1, m \ge 0\}$$
(10)

in the forms

$$f(\eta) = A_{0,0} + \sum_{n=1}^{+\infty} \sum_{m=0}^{+\infty} A_{n,m} \eta^m \exp(-n\eta),$$
(11)

$$g(\eta) = \sum_{n=1}^{+\infty} \sum_{m=0}^{+\infty} B_{n,m} \eta^m \exp(-n\eta), \qquad (12)$$

respectively, where $A_{n,m}$ and $B_{n,m}$ are coefficients. It is straightforward to choose

$$f_0(\eta) = 1 - \exp(-\eta) - \eta \exp(-\eta),$$
 (13)

$$g_0(\eta) = \exp(-\eta) + \eta \exp(-\eta) \tag{14}$$

as the initial approximations of $f(\eta)$ and $g(\eta)$. We choose

$$L_f = \frac{\partial^2}{\partial \eta^2} - \frac{\partial}{\partial \eta},\tag{15}$$

$$L_g = \frac{\partial^2}{\partial \eta^2} - 1 \tag{16}$$

as our auxiliary linear operators, which have the properties:

$$L_f[C_1 + C_2 \exp(\eta)] = 0,$$
(17)

$$L_g[C_3 \exp(-\eta) + C_4 \exp(\eta)] = 0,$$
(18)

where C_1 , C_2 , C_3 and C_4 are all constants.

We construct the so-called zeroth-order deformation equations

$$(1-p)L_f[F(\eta;p) - f_0(\eta)] = p\hbar_f N_f[F(\eta;p), G(\eta;p)],$$
(19)

$$(1-p)L_g[G(\eta;p) - g_0(\eta)] = p\hbar_g N_g[F(\eta;p), G(\eta;p)],$$
(20)

subject to the boundary conditions

$$F(0;p) = 0, \quad G(0;p) = 1,$$

$$\frac{\partial F(\eta;p)}{\partial \eta}\Big|_{\eta=\infty} = G(\infty;p) = 0,$$
(21)

under the definitions

$$N_f[F(\eta;p), G(\eta;p)] = \frac{\partial^2 F(\eta;p)}{\partial \eta^2} + \left(\beta - \frac{2}{3}\right) \eta \frac{\partial G(\eta;p)}{\partial \eta} + \beta G(\eta;p),$$
(22)

$$N_{g}[F(\eta;p), G(\eta;p)] = \frac{\partial^{2}G(\eta;p)}{\partial\eta^{2}} + \frac{1}{3}F(\eta;p)\frac{\partial G(\eta;p)}{\partial\eta} - \beta\frac{\partial F(\eta;p)}{\partial\eta}G(\eta;p),$$
(23)

where *p* is an embedding parameter, \hbar_f and \hbar_g are the auxiliary non-zero parameters. Obviously,

$$F(\eta; 0) = f_0(\eta), \quad G(\eta; 0) = g_0(\eta),$$
 (24)

and

$$F(\eta; 1) = f(\eta), \quad G(\eta; 1) = g(\eta),$$
 (25)

when p = 0 and p = 1, respectively.

We expand $F(\eta; p)$ and $G(\eta; p)$ in Taylor's power series at p = 0. If the series are convergent at p = 1, due to Eqs. (24) and (25) we have

$$f(\eta) = f_0(\eta) + \sum_{m=1}^{+\infty} f_m(\eta),$$
 (26)

$$g(\eta) = g_0(\eta) + \sum_{m=1}^{+\infty} g_m(\eta),$$
 (27)

where

$$f_m(\eta) = \frac{1}{m!} \frac{\partial^m F(\eta; p)}{\partial p^m} \Big|_{p=0},$$
(28)

$$g_m(\eta) = \frac{1}{m!} \frac{\partial^m G(\eta; p)}{\partial p^m} \Big|_{p=0},$$
(29)

being governed by the corresponding mth-order deformation equations [16,17] as

$$L_f[f_m(\eta) - \chi_m f_{m-1}(\eta)] = \hbar_f R_m(\eta), \qquad (30)$$

$$L_g[g_m(\eta) - \chi_m g_{m-1}(\eta)] = \hbar_g S_m(\eta), \qquad (31)$$

subjected to the boundary conditions

$$f_m(0) = 0, \quad g_m(0) = 0, \quad f'_m(\infty) = g_m(\infty) = 0$$
 (32)

with

$$R_m(\eta) = f''_{m-1}(\eta) + \left(\beta - \frac{2}{3}\right)\eta g'_{m-1}(\eta) + \beta g_{m-1}(\eta), \qquad (33)$$

$$S_{m}(\eta) = g_{m-1}'' + \frac{1}{3} \sum_{n=0}^{m-1} f_{n}(\eta) g_{m-1-n}'(\eta) - \beta \sum_{n=0}^{m-1} f_{n}'(\eta) g_{m-1-n}(\eta)$$
(34)

and

$$\chi_m = \begin{cases} 1, & m = 1, \\ 0, & m > 1. \end{cases}$$
(35)

It is found that $f_m(\eta)$ and $g_m(\eta)$ governed by Eqs. (30)–(32) can be expressed by

$$f_m(\eta) = a_{m,0}^0 + \sum_{k=1}^{m+1} \sum_{i=0}^{m+1} a_{m,k}^i \eta^i \exp(-k\eta),$$
(36)

$$g_m(\eta) = \sum_{k=1}^{m+1} \sum_{i=0}^{m+1} b^i_{m,k} \eta^i \exp(-k\eta)$$
(37)

for $m \ge 1$, where $a_{m,k}^i$ and $b_{m,k}^i$ are coefficients. Substituting above expressions into Eqs. (30)–(32), we have the recursive formulae

$$a_{m,k}^{i} = \hbar_{f} \sum_{j=i}^{m+1} \mu_{k,j}^{i} (d_{m-1,k}^{j} + \beta \lambda_{m-1,k}^{j} b_{m-1,k}^{j}) + \hbar_{f} \sum_{j=\max\{0,i-1\}}^{m} \left(\beta - \frac{2}{3}\right) \mu_{k,j+1}^{i} e_{m-1,k}^{j} + \chi_{m} \lambda_{m-1,k}^{i} a_{m-1,k}^{i}$$
(38)

for $1 \leq k \leq m+1$ and $0 \leq i \leq m+1$,

$$a_{m,0}^{0} = -\sum_{k=1}^{m+1} a_{m,k}^{0}, \tag{39}$$

and

$$b_{m,k}^{i} = \chi_{m} \lambda_{m-1,k}^{i} b_{m-1,k}^{j} + \hbar_{g} \sigma_{m,k}^{i}$$
(40)

for k = 1 and $1 \le i \le m + 1$, or $2 \le k \le m + 1$ and $0 \le i \le m + 1$, and

$$b_{m,1}^{0} = (-1) \sum_{j=2}^{m+1} (\chi_{m} \lambda_{m-1,j}^{0} b_{m-1,j}^{0} + \hbar_{g} \sigma_{m,j}^{0}), \qquad (41)$$

Here

$$\mu_{n,q}^{i} = \sum_{j=i}^{q} \left(\frac{q!}{i!}\right) \frac{1}{(n+1)^{q-j+1}} \frac{1}{n^{j-i+1}}, \quad 0 \leqslant i \leqslant q,$$
(42)

$$\lambda_{m,k}^{i} = \begin{cases} 1, & 0 \leq i \leq m+1 \text{ and } 1 \leq k \leq m+1, \\ 0, & \text{otherelse}, \end{cases}$$
(43)

and

$$d_{m,k}^{i} = (i+2)(i+1)\lambda_{m,k}^{i+2}a_{m,k}^{i+2} - 2k(i+1)\lambda_{m,k}^{i+1}a_{m,k}^{i+1} + k^{2}\lambda_{m,k}^{i}a_{m,k}^{i},$$
(44)

$$e_{m,k}^{i} = (i+1)\lambda_{m,k}^{i+1}b_{m,k}^{i+1} - k\lambda_{m,k}^{i}b_{m,k}^{i}$$
(45)

for $0 \leq i \leq m+1$ and $1 \leq k \leq m+1$,

$$\sigma_{m,k}^{j} = \sum_{q=j}^{m+1} (\tau_{m-1,k}^{q} + \Gamma_{m,k}^{q} + \Phi_{m,k}^{q} + \Delta_{m,k}^{q}) \delta_{k,q}^{j}$$
(46)

for $2 \leq k \leq m + 1$, $0 \leq j \leq m + 1$,

$$\sigma_{m,1}^{j} = \sum_{i=\max\{0,j-1\}}^{m} (\tau_{m-1,1}^{i} + \Phi_{m,1}^{i}) \delta_{1,i}^{j}$$
(47)

for $0 \leq j \leq m + 1$, under the definitions

$$\delta_{n,q}^{j} = \begin{cases} -\frac{q!}{j!} \frac{1}{2q^{-j+2}}, & 0 \leq j \leq q \text{ and } n = 1, \\ -\frac{1}{2(q+1)}, & j = q+1 \text{ and } n = 1, \\ -\frac{q!}{j!} \left(\frac{1}{2(n+1)^{q^{-j+1}}} - \frac{1}{2(n-1)^{q^{-j+1}}}\right), & 0 \leq j \leq q \text{ and } n > 1, \\ 0, & j = q+1 \text{ and } n > 1, \end{cases}$$

$$(48)$$

and

$$\begin{aligned} \tau^{i}_{m,k} &= (i+2)(i+1)\lambda^{i+2}_{m,k}b^{i+2}_{m,k} - 2k(i+1)\lambda^{i+1}_{m,k}b^{i+1}_{m,k} \\ &+ k^{2}\lambda^{i}_{m,k}b^{i}_{m,k} \end{aligned} \tag{49}$$

for $0 \leq i \leq m+1$ and $1 \leq k \leq m+1$,

1857

$$\Gamma_{m,n}^{q} = \frac{1}{3} \sum_{k=0}^{m-1} \sum_{\substack{j=\max\{1,n-m+k\}}}^{\min\{k+1,n-1\}} \times \sum_{\substack{i=\max\{0,q-m+k\}}}^{\min\{k+1,q\}} a_{m-k-1,n-j}^{q-i} \lambda_{m-1-k,n-j}^{q-i} e_{k,j}^{i}$$
(50)

for $2 \leq n \leq m+1$, $0 \leq q \leq m+1$,

$$\Phi^{i}_{m,j} = \frac{1}{3} \sum_{k=\max\{j-1,i-1\}}^{m-1} a^{0}_{m-k-1,0} e^{i}_{k,j}$$
(51)

for $1 \leq j \leq m + 1$, $0 \leq i \leq m + 1$,

$$\mathcal{\Delta}_{m,n}^{q} = -\beta \sum_{k=0}^{m-1} \sum_{j=\max\{1,n-k-1\}}^{\min\{m-k,n-1\}} \times \sum_{i=\max\{0,q-k-1\}}^{\min\{m-k,q\}} c_{k,n-j}^{q-i} \lambda_{m-1-k,j}^{i} b_{m-1-k,j}^{i}$$
(52)

for $2 \leq n \leq m+1$, $0 \leq q \leq m+1$, and

$$c_{m,k}^{i} = (i+1)\lambda_{m,k}^{i+1}a_{m,k}^{i+1} - k\lambda_{m,k}^{i}a_{m,k}^{i}$$
(53)

for $0 \leq i \leq m + 1$ and $1 \leq k \leq m + 1$.

Using above recursive formulae, we can calculate all coefficients $a_{m,n}^k$ and $b_{m,n}^k$ by using only the first five: $a_{0,0}^0 = 1, a_{0,1}^0 = -1, a_{0,1}^1 = -1, b_{0,1}^0 = 1, b_{0,1}^1 = 1$, given by the initial approximations (13) and (14). The corresponding *M*th-order approximations of (26) and (27) are

$$f(\eta) \approx f_0(\eta) + \sum_{m=1}^{M} f_m(\eta)$$

= $\sum_{m=0}^{M} a_{m,0}^0 + \sum_{m=0}^{M} \sum_{k=1}^{m+1} \sum_{i=0}^{m+1} a_{m,k}^i \eta^i \exp(-k\eta),$ (54)

$$g(\eta) \approx g_0(\eta) + \sum_{m=1} g_m(\eta)$$

= $\sum_{m=0}^{M} \sum_{k=1}^{m+1} \sum_{i=0}^{m+1} b^i_{m,k} \eta^i \exp(-k\eta).$ (55)

When $M \to +\infty$, we have an *explicit*, *totally analytic* solution of Eqs. (6)–(8).

3. Results analysis

In this section, we verify our analytic solutions by the numerical results given by the finite difference method

Table 1Parameters used in our analytic approach

α	β	\hbar_f	\hbar_g	Order M
0	0	-1	-0.2	90
1	0.5	-1	-1	40
3	0.75	-1	-1	40
10	0.909	-1	-1	40
$+\infty$	1	-1	-1	40

Table 2 Analytical results of $f(\eta)$ at different order of approximation compared with numeric results in case of $\alpha = 1$

η	5th order	10th order	15th order	20th order	25th order	30th order	35th order	40th order	Numeric
									results
0	0.0000	0.0000	0.0000	0.0000	0.0000	0.0000	0.0000	0.0000	0.0000
1	0.8294	0.7692	0.7799	0.7777	0.7784	0.7781	0.7782	0.7782	0.7782
2	1.3237	1.2249	1.2447	1.2407	1.2420	1.2415	1.2417	1.2416	1.2416
3	1.6134	1.4921	1.5187	1.5135	1.5152	1.5147	1.5148	1.5148	1.5148
4	1.7814	1.6471	1.6791	1.6732	1.6751	1.6745	1.6747	1.6746	1.6746
5	1.8777	1.7362	1.7723	1.7660	1.7681	1.7674	1.7676	1.7675	1.7676
6	1.9325	1.7868	1.8261	1.8196	1.8218	1.8212	1.8213	1.8213	1.8213
7	1.9632	1.8153	1.8570	1.8503	1.8527	1.8521	1.8522	1.8522	1.8522
8	1.9802	1.8310	1.8747	1.8679	1.8704	1.8697	1.8699	1.8699	1.8699
9	1.9895	1.8397	1.8847	1.8779	1.8805	1.8798	1.8800	1.8800	1.8799
10	1.9945	1.8444	1.8903	1.8835	1.8862	1.8855	1.8857	1.8857	1.8857
11	1.9971	1.8470	1.8935	1.8867	1.8894	1.8887	1.8889	1.8889	1.8889
12	1.9985	1.8483	1.8953	1.8884	1.8912	1.8905	1.8907	1.8907	1.8907
13	1.9992	1.8490	1.8963	1.8894	1.8922	1.8915	1.8917	1.8917	1.8917
14	1.9996	1.8494	1.8968	1.8900	1.8927	1.8921	1.8923	1.8922	1.8922
15	1.9997	1.8496	1.8971	1.8902	1.8931	1.8924	1.8926	1.8925	1.8925
16	1.9998	1.8497	1.8973	1.8904	1.8932	1.8926	1.8927	1.8927	1.8927
17	1.9999	1.8498	1.8973	1.8905	1.8933	1.8926	1.8928	1.8928	1.8928
18	1.9999	1.8498	1.8974	1.8905	1.8933	1.8927	1.8928	1.8928	1.8928
19	1.9999	1.8498	1.8974	1.8905	1.8934	1.8927	1.8929	1.8928	1.8928
20	1.9999	1.8498	1.8974	1.8905	1.8934	1.8927	1.8929	1.8928	1.8928

1858

Table 3					
Analytical results of $g(\eta)$) at different order	of approximation	compared with	numeric results ir	a case of $\alpha = 1$

•	0(1)				•				
η	5th order	10th order	15th order	20th order	25th order	30th order	35th order	40th order	Numeric results
0	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000	1.0000
1	0.4834	0.5097	0.5035	0.5050	0.5044	0.5046	0.5045	0.5046	0.5046
2	0.2366	0.2653	0.2573	0.2593	0.2585	0.2588	0.2587	0.2587	0.2587
3	0.1175	0.1403	0.1330	0.1350	0.1341	0.1344	0.1343	0.1344	0.1343
4	0.0593	0.0749	0.0693	0.0709	0.0702	0.0705	0.0704	0.0704	0.0704
5	0.0305	0.0401	0.0363	0.0375	0.0370	0.0372	0.0371	0.0371	0.0371
6	0.0160	0.0214	0.0191	0.0199	0.0195	0.0197	0.0196	0.0196	0.0196
7	0.0085	0.0114	0.0100	0.0106	0.0103	0.0104	0.0104	0.0104	0.0104
8	0.0046	0.0060	0.0053	0.0056	0.0055	0.0055	0.0055	0.0055	0.0055
9	0.0025	0.0031	0.0028	0.0030	0.0029	0.0029	0.0029	0.0029	0.0029
10	0.0013	0.0016	0.0015	0.0016	0.0015	0.0016	0.0016	0.0016	0.0016



Fig. 1. Analytic results of $(1 + \alpha)^{\frac{1}{2}} f'(0)$ compared with numerical ones given by Na and Pop [6]. Symbol: numerical results; solid line: homotopy analysis results.



Fig. 2. As Fig. 1, but for $-(1 + \alpha)^{\frac{2}{3}}g'(0)$.

[3,6]. Parameters used in our analytic approach are listed in Table 1. It is found that our analytic approximations agree well with the numerical ones, as shown in Tables 2 and 3, and in Figs. 1 and 2.

As shown in Figs. 3 and 4, our analytic results agree well with numerical ones in a wide range of parameter β . Note that solution for $\beta = 1$, corresponding to $\alpha \rightarrow +\infty$, is also given. Due to the singularity at $\alpha = -2/5$ reported by Merkin and Zhang [5], higher order of approximation is needed when $\alpha = 0$, as shown in Table 1.

The convergence of the HAM series is controlled by the two important parameter \hbar_f and \hbar_g . The parameter \hbar_g can be set to -1 for $\beta \ge 0.5$, and dropped for $\beta < 0.5$, as shown in Table 1.



Fig. 3. Homotopy analytic results for $f(\eta)$ compared with numerical ones. Symbol: numerical results; solid line: homotopy analysis result when $\beta = 0$; dotted line: homotopy analysis result when $\beta = 0.75$; long dash line: homotopy analysis result when $\beta = 1$.



Fig. 4. As Fig. 3 but for $g(\eta)$.

4. Conclusions

We apply the HAM in this paper to obtain an explicit, totally analytic, uniformly valid solution to the so-called Cheng–Chang equation appeared in free convection in porous medium above a horizontal flat surface.

The validity of our analytic solution is verified by numeric results. To the best of our knowledge, it is the first time that such an explicit, uniformly valid, totally analytic solution to Cheng–Chang equation is given. This explicit analytic solution might find wide applications in geothermal energy industries, groundwater pollution transport, nuclear waste disposal, chemical reactors engineering, insulation of buildings and pipes, and storage of grain and coal, and so on.

References

- D.A. Nield, A. Bejan, Convection in Porous Media, second ed., Springer, New York, 1998.
- [2] D.B. Ingham, I. Pop (Eds.), Transport Phenomena in Porous Media, Pergamon, Oxford, 1998.
- [3] P. Cheng, I.D. Chang, Buoyancy induced flows in a saturated porous medium adjacent to impermeable horizontal surface, Int. J. Heat Mass Transfer 19 (1976) 1267–1272.
- [4] I.D. Chang, P. Cheng, Matched asymptotic expansions for free convection about an impermeable horizontal surface in

a porous medium, Int. J. Heat Mass Transfer 26 (1983) 163-174.

- [5] J.H. Merkin, G. Zhang, On the similarity solution for free convection in a saturated porous medium adjacent to impermeable surface, Wärme- und Stoffübertragung 25 (1990) 179–184.
- [6] T.Y. Na, I. Pop, A note to the solution of Cheng-Chang equation arising in free convection in porous media, Int. Commun. Heat Mass Transfer 26 (1999) 145–151.
- [7] P. Cheng, W.J. Minkowycz, Free convection about a vertical flat plate imbedded in a porous medium with application to heat transfer from a dike, J. Geophys. Res. 82 (1977) 2040–2044.
- [8] P. Cheng, The influence of lateral mass flux on the free convection boundary layers in a saturated porous medium, Int. J. Heat Mass Transfer 20 (1977) 201–205.
- [9] D.B. Ingham, S.N. Brown, Flow past a suddenly heated vertical plate in a porous medium, Proc. Roy. Soc. Lond. A403 (1986) 51–80.
- [10] D.A.S. Rees, I. Pop, Vertical free convection in a porous medium with variable permeability effects, Int. J. Heat Mass Transfer 43 (2000) 2565–2571.
- [11] A. Postelnicu, I. Pop, Similarity solutions of free convection boundary layers over vertical and horizontal surfaces in porous media with internal heat generation, Int. Commun. Heat Mass Transfer 26 (1999) 1183–1191.
- [12] N. Banu, D.A.S. Rees, The effect of inertia on vertical free convection boundary layer flow from a heated surface in porous media with suction, Int. Commun. Heat Mass Transfer 27 (2000) 775–783.
- [13] P. Cheng, Heat transfer in geothermal systems, in: T.F Irvine, J.P. Hartnet (Eds.), Advances in Heat Transfer, vol. 14, Academic Press, New York, 1978, pp. 1–105.
- [14] S.J. Liao, An approximate solution technique which does not depend upon small parameters: a special example, Int. J. Nonlinear Mech. 30 (1995) 371–380.
- [15] S.J. Liao, A kind of approximate solution technique which does not depend upon small parameters (part 2): an application in fluid Mechanics, Int. J. Nonlinear Mech. 32 (1997) 815–822.
- [16] S.J. Liao, A uniformly valid analytic solution of twodimensional viscous flow over a semi-infinite flat plate, J. Fluid Mech. 385 (1999) 101–128.
- [17] S.J. Liao, An explicit, totally analytic approximate solution for Blasius' viscous flow problems, Int. J. Nonlinear Mech. 34 (1999) 759–778.
- [18] S.J. Liao, An analytic approximation of the drag coefficient for the viscous flow past a sphere, Int. J. Nonlinear Mech. 37 (2002) 1–18.
- [19] S.J. Liao, A. Campo, Analytic solutions of the temperature distribution in Blasius viscous flow problems, J. Fluid Mech. 453 (2002) 411–425.